
FEED VIEW WINDOW
(CORRUGATED) 3-14254

Use Washer (3-14185) 
to mark the hole locations in 
the corrugated Body Sheets.

Outside View
D:\INSTR\FEDVIEWA.PCX

Side View

Key Part No. Description Qty.

1 3-14186 Corrugated Rubber Gasket 1

2 3-13643 5'' (127mm) Diameter Window 1

3 3-14185 12 Ga. 4 1/16'' I.D., 3/4'' O.D. Washer 1

4 39-20243 5/16 x 1 1/2'' Half Thread Gr. 2 Bolt 4

5 39-20155 5/16'' Fabco Washer 4

6 39-20020 5/16'' Hex Nut 4

BROCK MANUFACTURING
A Division of CTB, Inc.

P.O. Box 2000, Milford, IN 46542-2000
Phone 219-658-4191 FAX: 219-658-4133   e-mail: ctb@ctbinc.com  Internet: http//www.ctbinc.com

MHB1196C

2

D:\INSTR\FEDVIEWB.PCX

4

5

1 3
62

SEPTEMBER 1998



FEED VIEW WINDOW
(CORRUGATED) 3-14254

Use Washer (3-14185) 
to mark the hole locations in 
the corrugated Body Sheets.

Outside View
D:\INSTR\FEDVIEWA.PCX

Side View

Key Part No. Description Qty.

1 3-14186 Corrugated Rubber Gasket 1

2 3-13643 5'' (127mm) Diameter Window 1

3 3-14185 12 Ga. 4 1/16'' I.D., 3/4'' O.D. Washer 1

4 39-20243 5/16 x 1 1/2'' Half Thread Gr. 2 Bolt 4

5 39-20155 5/16'' Fabco Washer 4

6 39-20020 5/16'' Hex Nut 4

BROCK MANUFACTURING
A Division of CTB, Inc.

P.O. Box 2000, Milford, IN 46542-2000
Phone 219-658-4191 FAX: 219-658-4133   e-mail: ctb@ctbinc.com  Internet: http//www.ctbinc.com

MHB1196C

2

D:\INSTR\FEDVIEWB.PCX

4

5

1 3
62

SEPTEMBER 1998


